
SECOND YEAR HIGHER SECONDARY 
SAMPLE QUESTION PAPER 

PART III – SOCIOLOGY 
Maximum Mark: 80              Time: 2 ½ hrs 

 Cool off time: 15 mts 
 

Question 1-10 Answer any 9. 1 score each (9*1=9) 

tNm-Zyw 1þ10 G-sX-¦n-epw 9 tNm-Zy-§Ä-¡v D¯-cw \Â-Ip-I. 1 kv-tImÀ ho-Xw. (9*1=9) 

1. Who is the author of the book “The Logic of Collective Action”? 

A. Mancur Olson 
B. Mecarthy, Zald 
C. E.P Thomson 
D. Gaura Devi 

tem-Pn-Iv Hm- v̂ I-f-Îo-hv B-£³ F-¶ ]p-kv-X-I-¯n-sâ c-N-bn-Xm-hv B-cv?  
F. am³-IÀ HmÄ-k¬ 
_n. sa-¡m-¯n, kmÄ-Uv 
kn. C ]n tXmw-k¬ 
Un. Ku-cm tZ-hn 

 

2. Identify the leader who is related to Jharkhand Movement? 

A. B.P Wadia 
B. Charu majumdar  
C. Kanu Sanyal  
D. Birsa Munda  

Xm-sg X-¶n-«p-Åh-bnÂ PmÀ-J-Þv {]-Øm-\-hp-am-bn _-Ô-s¸-« t\-Xm-hn-s\ Xn-cn-¨-dn-bp-I?  

 

F. _n.]n hm-Un-b 

_n. Nm-cp a-Ppw-ZmÀ 

kn. I-\p k-\ymÂ 

Un. _nÀ-km ap-­ 

3. In a market, what individuals do for their own benefit will become good for the society. The term  

    used by Adam Simth to indicate this process is ………………. 

hy-àn-IÄ hn-]-Wn-I-fnÂ A-h-cp-sS kzmÀ-° XmÂ-]-cy-a-\p-k-cn-¨v {]-hÀ-¯n-¡p-t¼mÄ k-aq-l-

¯n-\v A-Xv Kp-W-I-c-am-bn-̄ o-cp-¶p. C-Xn-s\ hn-ti-jn-¸n-¡m³ B-Uw-kv-an-¯v D-]-tbm-Kn-̈  ]-

Zw..................... 

 

4. The number of live births per 1000 of the population in a year is called………………….  

H-cp hÀ-j-¯nÂ P-\-kw-Jy-bn-se Hm-tcm 1000\pw Po-h-t\m-sS P-\n-¡p-¶-h-cp-sS F-®-am-

Wv.......... 

 
 



5. Complete the chart  

 
 
Tharambia Shinde 

 
Beegum Rukiya Sakavath 
 

Stree Purusha 
Tulana 

 
--------------------------------------- 

 
        
NmÀ-«v ]qÀ-¯n-bm-¡p-I 

 
Xm-cm-`m-bv jn³-sU 

 
_o-Kw dp-Jn-b k-Im-h- v̄ 

 
 

kv-{Xo ]p-cp-j Xp-e-\ 

 

 
--------------------------------------- 

 

      

6. The map which denote the position of an individual in a society ……………. 

k-aq-l-¯nÂ H-cp hy-àn-bp-sS Øm-\w \nÀ-W-bn-¡m³ k-lm-bn-¡p-¶ `q-]-SamWv 

..................................  

 

7. The first modern industry started in India was ………… industries  

C-́ y-bnÂ B-Zy-am-bn Øm-]n-¡-s¸-« B-[p-\n-I hy-h-km-b-§Ä................. hy-h-km-b-§-fm-Wv. 

 

8. The process of decline of traditional industries in Colonial India is termed as ………….. 

{_n-«o-jv `-c-W-Im-e- v̄ C-́ y-bn-se ]-c-¼-cm-K-X I-c-Iu-i-e hy-h-km-b-§Ä-¡p-­m-b X-IÀ-¨-

sb kqNn-̧ n-¡p-¶ ]-Z-amWv ………………… 

 

    9. Who propounded the ‘Convergence Theory’? 

s]m-cp-¯ kn-²m-́ w B-hn-jv-I-cn-̈ -Xv B-cv ? 

 
A. E.B Tylor  C._n ssS-eÀ- 

B. Harry Braverman lm-cn t{_-hÀ-am³- 

C. Clark Kerr  ¢mÀ-¡v sIÀ- 

 

    10. Write an example for Transnational Corporations. 

cm-Pym-́ -c tImÀ-]-td-j-\p-IÄ-¡v H-cp D-Zm-l-c-Ww F-gp-Xp-I? 

Question 11-15 Answer all questions. 2 score each (5x2=10) 

tNm-Zyw 11þ15 F-Ãm tNm-Zy-§Ä-¡pw D-¯-cw \Â-Ip-I. 2 kv-tImÀ ho-Xw. (5x2=10) 

 



11. Define the term “Infotainment”. 

C³-t^m-ssS³-saâv F-¶ B-i-bw hy-à-am-¡p-I? 

 

12. What is meant by “fertility rate”? 

^-e-̀ q-bn-jvT-X \n-c-¡v F-s´-¶v hy-à-am-¡p-I? 

 

13. List out the features of “Dominant Caste”? 

{]-_-e-Pm-Xn-bp-sS k-hn-ti-j-X-IÄ G-h? 

 

14. Define ‘Status Symbol’ with an example? 

]-Z-hn Nn-Ów D-Zm-l-c-W-k-ln-Xw \nÀ-h-Nn-¡p-I 

 

15. Describe  the Dimensions of untouchability, Humiliation & Subordination  

A-kv-]r-jy-X-bp-sS am-\-§fmb A-h-tl-f-\-hpw hn-t[-b-Xz-hpw hnh-cn-¡pI. 

 

  Question 16-19 Answer any 3, 4 score each (3x4=12) 

 tNm-Zyw 16þ19 G-sX-¦n-epw 3 F-®-̄ n-\v D- -̄cw \Â-Ip-I.  4 kv-tImÀ ho-Xw. (3x4=12) 

 

16. Explain the meaning of secularism in Indian context? 

a-tX-X-c-Xzw F-¶ B-i-bw C-´y³ ]-Ým-̄ -e-¯nÂ hn-h-cn-¡p-I. 

 

17. Differentiate  social map from  geographical map? 

km-aq-ly `q-]-Sw `q-an-im-kv-{X-]-c-am-b `q-]-S-¯nÂ \n-¶pw F-§-s\ hy-Xym-k-s¸-«n-cn-¡p-¶p? 

 

18. What are the main economic dimensions of Globalisation? 

B-tKm-f-hÂ-¡-c-W-¯n-sâ {]-[m-\-s¸-« km-¼-̄ n-I am-\-§Ä G-h? 

 

19. Differentiate between state & civil society? 

cm-{ã-hpw ]u-c k-aq-l-hpw X-½nÂ thÀ-¯n-cn-¡p-I.  

 

    Question 20-23 Answer any 3. 5 score each (3x5=15) 

   tNm-Zyw 20þ23 G-sX-¦n-epw 3 F-®-̄ n-\v D-̄ -cw \Â-Ip-I.  5 kv-tImÀ ho-Xw. (3x5=15) 

 



20. “Disability is socially constructed”. Do you agree with this statement? Substantiate? 

“ssh-I-eyw k-aq-l-¯n-sâ \nÀ-½n-Xn-bm-W”v Cu {]-kv-Xm-h-\-tbm-Sv \n-§Ä tbm-Pn-¡p-¶p-

t­m? km[q-I-cn¡pI. 

 

21.  List out the reasons for declining sex ratio in India? 

C-́ y-bnÂ enw-Km-\p-]m-Xw Ip-d-bp-¶-Xn-sâ Im-c-W-§Ä ]-«n-I-s¸-Sp-¯p-I. 

 

22. Prepare a short note on the social importance of weekly market in Dorai? 

sZm-ssc {Km-a-¯n-se B-gv-N N-´-bp-sS km-aq-ly {]m-[m-\y-s¯ Ip-dn-¨v H-cp Ip-dn-¸v X-¿m-dm-¡p-

I 

 

23. Match the following  

A    B 
a. Alfred Gell  Tribal Group  
b. Nagarathars  Colonial Period  
c. Benjaras    Status Symbol 
d. Max Weber  Weekly Market 
e. Marwaris    Indigenous Trading Group 

 

     tNcpw ]-Sn tNÀ¡p-I 

A     B 
 
a. BÂ-{ -̂Uv sKÂ  tKm-{X hn-`mKw 

b.\-K-c-¯mÀ-amÀ   sIm-tfm-Wn-b-Â Im-eL«w  

c. s_-©m-cIÄ   ]-Z-hn-NnÓw 

d. am-Iv-kv sh_À  Bgv-N N-́  

e. amÀ-hm-cnIÄ   X-t±io-b hm-Wn-Py hn-`mKw 

 
Question 24-27 Answer any 3. 6 score each (3x6=18) 

 tNm-Zyw 24þ27 G-sX-¦n-epw 3 F-®-̄ n-\v D-̄ -cw \Â-Ip-I. 6 kv-tImÀ ho-Xw. (3x6=18) 

 

24. Define untouchability & explain its dimensions? 

A-kv-]r-iy-X F-¶ ]-Zw \nÀ-h-Nn-¡p-I. C-Xn-sâ hn-hn-[- am-\-§Ä hn-h-cn-¡p-I? 

 

25. Write a short note on mass media 

_-lp-P-\ am-[y-a-§-sf Ip-dn-¨v H-cp Ip-dn-¸v X-¿m-dm-¡p-I. 

 

26. Explain the different forms of family. 



Ip-Spw-_-¯n-sâ hn-hn-[- cq-]-§Ä hn-h-cn-¡p-I. 

 

27. Explain M.S.A Rao’s 3 levels of urbanisation observed in independent India. 

kzX{´ C-́ y³ {Km-a-§Ä-¡p ta-ep-Å \-K-c kzm-[o-\-¯n-sâ 3 co-Xn-I-sf Ip-dn-¨p-Å Fw.F-

kv.F dm-hp-hn-sâ A-`n-{]m-bw hn-i-I-e-\w sN-¿p-I. 

 

Question 28-30 Answer any 2. 8 score each (2x8=16) 

tNm-Zyw 28þ30 G-sX-¦n-epw 2 F-®-̄ n-\v D-̄ -cw \Â-Ip-I. 8 kv-tImÀ ho-Xw. 

28. a) Differentiate between Westernisation and Modernisation? 

b) Critically examine Sanskritisation 
 
a) ]m-Ým-Xy-hÂ-¡-c-W-hpw B-[p-\n-I-hÂ-¡-c-W-hpw Xm-c-X-ayw sN-¿p-I 

b)  kw-k-v-Ir-X-hÂ-¡-c-W-s¯ hn-aÀ-i-\m-ß-I-am-bn ]-cn-tim-[n-¡p-I 

 

29. What is Green Revolution? Its Social consequences were negative rather than positive’. Explain? 

l-cn-X-hn-¹-hw F-́ m-sW-¶v hn-h-cn-¡p-I. l-cn-X-hn-¹-h-¯n-sâ km-aq-ln-I A-\-́ -c ^-e-§Ä 

Kp-W-t¯-¡mtfsd G-sd tZm-j-I-c-am-bn-«m-Wv _m-[n-¨-Xv. hn-h-cn-¡p-I. 

 

30. Define ‘Panchayati Raj’. What are the power and responsibilities of Panchayats in the colonial 
period? 

]-©m-b-¯v cm-Pv \nÀ-Æ-Nn-¡pI. sIm-tfm-Wn-bÂ Im-e-s¯ ]-©m-b-¯n-sâ A-[n-Im-c-§-fpw D-

¯-c-hm-Zn-Xz-§-fpw hn-h-cn-¡p-I. 
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